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CHAFTER I
INTRODUCTION

The dasic prodlem eoafronting all teschers is hov to help sech
studsat dsrelop hiaself to full capacity, seatally and esocially. Lack
of stadimt interest is oftea an iuportant factor ia the cmumstioa of
peor eclool recoxds. This lack of iaterest is sspecially epyeswnt in
Such Soirsis as governasnt @ad history. Various emetore have sug-
Jeted lLaproved wethods of iastruction es coe sasmyr t0 this prodblse.
Propoments of socialized recitation ¢lais that the emphesis mst be
tabsn {108 he tescher asd placed on the pupils: They believe that
attisudsis oveloped thruvugh stuiy ani classroom proceduie are @oJo is-
gormsat than the acquisition of knowledge. Li lhis book, A, C. Diaing
stated, “oven feots amy be Detier acquired under s systea which places
the respoasibility on the papils’ ..__,

This writer formed the opinioa that use o0f cocialized pracedusvs
1s the classseca should result 1 increesed momtal end social echisvewsnt.
Thie essumplisn VB9 based o8 thrwt [ropositicas!

i: A gxester muber of studesnts vill contridute aore o clase
discuseion ead 40 {t in s wore satisfectory mmanmr 18 @ socislised
!.-ﬁnigfﬁosgﬁ%. The lany studext
vith the high intelligeace quotient often “takss & chance” o0 bis ability
to mmufecture som kisd of assver to any question thet sight fall to hia
aad dopmis on getlimg emough fiom tho ubol_lall other studsmts’

assvers o yess tests (his mein, if not oaly,; cblective). Aseigned 8

T . ¢ Miaing, Deachieg Socisl Studies i Secupdery Beigols, p- .



epecific phese of & eocisl discussion, bhe vwill pregese and preseDt 1t
sstiafectorily becsuse ke cap give no excuse for not doing 6o that wuld
satisfy either bdis teacher or hiuself. The etudsnt with resding and
susserizing dirficulties viwve s long lacture or resding sseigument, with
mubers of kaova and unEnovn questions to answer, a8 & horridle @castros-
ity vhich bhe csnmot master. Assigned s specific phmse of @ social die-
caseion (vhich the teachar edomld seo is vithia his adiliy), be will
prepare and present it with sowe degree of confidence,

2. A student's participetion increases his interest and his
lsaruing 18 sugmsnted dacauss ioterost and leamiag are slwys ¢Oacoai-
wmat. Iateress, vhich cez be developed By participation through socislised
peooedues, i the wet important fuctor 10 the suotess of s student.

3. When @ student is respomsible for pPeesting a definite prepe-
retica t0 the ¢lass, bhe vill dsvote sufficiest time (o conceatrating on
it % weet class approval. He vill knov it well; and e vill Preseat his
keovisdge in & memmer SAL1afectory, 20t only to hiwself, but to his class -
ag%es.

Stateamat of Prodles

The ais of this 6tudy is %0 cougere the achievemsnt recCordis of
tve Uaited States Kistory cimeses, in wiieh different seaching precedures
vere used, and to fiad out vhich group wede the west PIOEEees .

\



CHAPTER IX
REVIEW OF LITERATURE

In 1929, esversl studies coagaring the effeciiveaess of varicus
teaching asthods were mie by the University of Oregon. Thesc studies
vere uader the direction of Harl R. Douglass, Nead of the Educatice
Departamat.}

Cas study, by V. P. Horris, 8tteapted t0 wpusure the relative
effostivensss of the problon and the lecture mstheds of imetructicn in
prineiplss of ocomounics. “HSimce the prodlen ntho(otmwumhﬂ;
iteelf = well t0 instructiod in ecobeiics, Were have been those Vho
bave insisted that the lecture mtbod edould de didileced eatirely by
the yrobles msthod."? It vas the purpose of Morris to compare cbjeetively
and under controlled canditions the results of the o wethods .

The lecture wthed of preseatation used was largsly of the
taditions) Sype with ihe mmjority of the classwark deiag doces Ly the
teacher. In the other 900%i0a, ¢ffert vas uads to elimiDate &8 WCh
80 0s8idle the forwsl c¢lass lecture, aod the theosetisel material wae
presented and snalyzed through specific economic problems. The class
vas organized around & few wajor questions of practical value. The classes
vere (gt by the sase teacher asd esch class inclwded WMirty pairs of
students chosen according to ability. mmu;tmmu_t

Tg. 2. Douglass, Controlled Experissutation i she Study of College
Teaching;—p. 24i-894~
2. -+



eboved we eignificunt difference 85 to the sdvantage of cos sethod over
the other.

L. D. uwl' ads a study, in 1980, cosgaring two sstheds of
iastructiag secielegy students in college. The focsl it ©f hie Prod-
len wvas the question: “Will greater participation asbe asre chang®s ia
personelity growth?” Two cless groups vere gset up, one makimg use of the
&roup discwesion plas end the other using the treditioml recitatica-
discussion mthod. The classes were taught by the ea® inetreotor in the
semn room; aad ey were peired accerdiag to ebility. YThe groupe were
retated ia five coatrelled experimnts, ahd the resultes shoved tat
slightly mozye kasvliedge of secioloygy vas acquired by the use of the growup
dissussica mstded thas )y resitatica-discussioz. Keowever, Zeleny states
dsfinite results wvare shtaimed in regard to prl&uw and they vere as
followe:

Every experiamatel approech a0 in the study stoved the group
diecuseior mthed of lesrniag superior to the trediticasl recitatice-
discvesica wthed in the developmsat of persciality. 0re socislised
fatta vere lasrned, usre attitudes were changed; peresnality Pscams
ia @sasrel wore escially adjusted 234 mved-wre ifa e directicaof
lssderadip, co-eperetien,seotudbility, apd sosial responsibility. We
eoaclude that, usder canditiens descrided ia this study, the STOup
lssraing plan vas eere effective than the discussiea a0tod in the
dovelepusnt of persesality.

Another writer, A. C. BiaingS, stetes that a teasher aust DOt

regard the ececialised recitntiona as 8 80lution to all classerves probleas,
but as a "etdod whieh asy be wsed cscasionslly to gkeat sivantage. ie
saye oecialised reeitaticn could well e callsd ooc;.nund diseuseion.

TL.T. Telow, ksperiamatel Appruisel of Growp Lamgmiag Plas, p. M.

2pining, op. eit., p. 163. ¥,

1



Bining staweses the mny edvesiages o eocialized recitation,
earecially im the tsschiag of eociml studiss, where the luportanee of
e deovelopmant of right stiitudes is recognized. Howver, he aleo lists
several criticisus eised 6t the abuse of the method rether tbaa its use.
lessona may be socialized iz newe ouly, precedure say becoas aschanicsl,
end the pupils may recyond not through socisl urge but WAroud hadit or
dosire o planse the teacher. e also ints out that therw aay be in-
asdequate mstary of sudject matter, futile discussion, and domimation Wy
s fwv esseziive pupila.

Sugh inforumtice es to the actuml use of socialiced pro=BdRured Voo
obtaimed from the writings of Bossing.! He says, “Ime aim of eocislize-
ticn prucedures is o previde a classivoa -..S.Ianml Vhele ormal eocialis
satica taken jlace. Thls norml socialisntion 14 developed im the ehild
W W4 dsvelopamat of the treits of imltimtive azd rrepommibility within
s group memlerebhip.” .

Be Mmcrides five eocislized procsdures to be used in the clasarvoe
and points cut sany beasfits that ceanmot be msesvired. Asoag these besefl te
e sanks developesst of lsedersiip, co-opamiiea; And e yoint of viev m
the =St inportans.

The prucedures descrided by Boseing sre: wuse of a pupilaleader,
topieal reparts aad Alecussiocs, pamsl discusiien, debntes, and 1netitu-
ticealized forus, such 68 a clase organising itself as @ city coumcil.
Bossing' o? fuMBYy vas 68 follows:

II..-J..J...E HE:&EE ..&
214, pp. 155-1356. .



In conclusion, those clements of socislization necessery
for successful participatioa in @ dewocratic society are the
qualities it is assused the clessroovs should foster. Training
children for democrecy by giving them treining ins democrecy is
the all absorbing purpose of socialized class procedures.



CHAPTER IIX
PROCEDURZS

This study i1avolved two g@oups Of elsventh grede studaate teking
a courve im Uaited States History. 8elsctios of the two groeps wae
wostly by chance, although, vhere possible, some shifting vas dome in
ea attempt 40 equate the seoticas. A Wial of 28 steimnts anrulled
in sach clase, but ocaly esventeen wore sslecisd for the etudy on the
%6818 of their amntsl edility scores. Lvery effort Vas mds %0 Msep
every caaditiocn 1ia the two classes alike except for the wethod of
1nstruction. No rfarticular verietion is werk doae esuld de sstributed
s the hour of day as clasase were oonducted at comsscutive eftermoem

perisds.
A lessca plas (Appendix A) vas set up 0 cover three unite im
the Wxt, Oyr Owp Quited States by Sevtiworta. The subject matter

selsoted covered the ywars 1880 to 18T0. Thie includes the Caases of
the Civil Var ead the lasting effects of this ecaflict. Dotk classes
vore \mught vith the eis of giving W0 students an underciaadiag of
pIeseRs day preblews by ¢ study of past experieuces. For sxewple, the
1astruster attaapted % Bslp the studants develep sa mdersteadisng of
asd apprecistisa of the Geuthers peopls aid their pxubleas.
Referemce books available te the students vem as follows:
e Making of Modern Awsyiom Wy L. N..Canfield ead K. B. Wilder
&A-mgc_:gwmu
Ihe Copetitution of She lpited States-dy 7. A. Sortes
¥agruders Amsrices Gpvesmmsmy Wy V. A. WeClemaghea



Tusks & Vaguer iosyelopedis

S8tudeats vere not givea speeific essigaments £10a these Books Wt
are eaccuregsd to use thea. esbers of the sxperimetal clase definitely
tad to g0 to the reference books for material mot aveilshis ia the text.

The cootrol group vas taught by the lecture-questica mthod ia wviech
the teacher ves the cester of classrovoa discussica. Studsat recitatics
coasieted mainly of aasveriag questicas or ollsr spoatassous diecussion.
An exasple of this procsdure ves the essigzment of the topic, Histery of
Tariffs ia the United States. Through Questioning, the tescher attempted
to sdov bov eectioms] differences developed over this Gubject and hov the
attitude of an isdividual teswverd s tariff verise vjttll hie oceupatica. For
ingtance, it vas alowa Viy different poiats of viev wvare heid by the cottoa
gruvers of the Bouth and the textils mamufsoturere of Sev Emgland. This
exanple ves then cospared with the differesces of opimion which esiet
today betamen the wol Govers and the wool Nug aamufecturere.

Littls ectwal tise wee speat lecturing emcept for needed explam-
tiess end to clarify isportant poiate such as the commectiem betwesn
tariffs and political party hletery.

Bocialined procedures vare used vith the sxperimatal grow) ead
an sttonpt vas made o Abift smpre resPomsidility %o She studeats. Class
discussioas vezre pupil-ceatered vith the iustructor sotimg otly as s gnide.
The sccialined esthods coasisted of %opical reports, pams) discuseioms,

aad dedates. -
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ARssigned spacific topics, the studsnte rejorted to the clase and
vere responsidle for guestions froa the group. “hils Jocedure vas used
e Uaa the others because it vas suitable o a«ll sudbject matter. After
the report, the isstructor asually eshel lesiding questisns to etart the
diecussion and W0 driag out the maim poimts of the lssacd. An emepls
of thie procediire ves AE sesigned reyeri s the Rsvolutica of 1826. A
student gave an o18) rEpArt on this tepie 5ad wvas respoosible for sasvers
to questicas froa the ressinder of the alass.

Tvo typee of pantl discuseions vere used quite successfully. e
usual pmouseduse vae to selsct four or five ponsl emsbezs vho discussed
various 8spects of a proble: and ansvered questions frea the grogy. Ia
the symposiun type pansl, also used, pamsl ._.o.ou.’h gregased short sgeeches
presenting seversl oimts of viev on & -IEME. Discussion
by the group end sudience folloved the pressataticna. An example of this
moandiize Yas the assijgnesat of four pans)l meshers t0 disecuss the specific
caugses of the Civil ¥War and each ves expected to answver quasticns on his
%opic. ,

Dedates were usid to somd exteat but a0t ia the formal orgaaizad
fashiona. In cud case the claeee ves divided into two groupe with reepoasible
lseders; aidd Vey procieded t0 preseat teo points of viev on @ mollas,
sucd @0 states rights. Also, emller groups psepered argimnats 13 regard
to comtroversial probleas, such as the limcoln-Douglass Debates.

Hental ebility scores from the Califormis Teet of Nemtal Maturity
vere aviiladle for sll dut tarve of the studemts. These tests bad been
edalnistared vhen the students were in the 9t n-_l-n As & further chusek
e Otis Test of Hental Maturity (Apjendix B) vas givea to both groupe of



students before they started vork on the problem.

An achievement test (Appendix C) published by the fducationsl Test-
ing Buresul wvas also aduinistered st the begioning of the study. Tnis
tvo-nundred guestion test consisted of multiple choice, matching, asd
true and falee questions. Lighty minutes vas allowed for the taking of
the test g0 thet time wvas not s fecicr in the resulits. Six veeks later,
vhen the study hed been completed, this Saue achisvemont test vas sgain
given to both groups.

N ucationsl Testing Buresu, Pargo, North Dakote.



CEAPTHR 1V
RIBULTS OF BRDY

A comparimsa of the intelligesés quoticsts eud achievespnt scoves
ie mde in T9dlet I anil II. As chown in Tebis I, Califoraia test dieres
from e contrel greep suaged from as iatelligemce guetient of 96 wWiii¥,
vhile the experissatal group Fesuite ruaged frea 102 % 118. The costral
Grev) ssaa ssere ves 109 eaé¢ the czmperimsatal group msea ves 110. Tiis
vas ocaly & differeats of ene point in faver of the experimsatal seotios.

The Otie test scozes Cros the contrel greep ruiped frea ea
intelligeace quotient of 99 te 135 with a mses of 110. The experimentsl
SPowp resulis for this 'lgainaogcwbocnﬁo!ong.
In this case & msan differense ¢f 000 »u?aon.onﬂroo.:cwﬂ’v!
alsvn by the Otle test. Although the results of WUWsee two tests abowm
40N0 variaticas, eas may asSume the twe Seetieas were alosely matodsd iv
regare teo msatal abiltity.

As shova by Teble II the ¢oatIel grewp pre-test 8cozes saagnd. from
06 %o 118 vith @ msan of 10M. The axperimental gIE&D sceres for the sase
test ringed from 88 to 130 vith » msan 0f A08. Thie imdicated & msan
diffesunse of oa¢ padnt ia the pre-test results.

The esatrol group ecpres fros the fimal test raged fxus 113 to 17
vith & sean score of 131. The experimsatal grewp sec?es frea QAie test
rungsd frea 108 te 153 with o mesa score of 122. Taly iadicated & mean
éiffervace of 2ime points ia fever ¢f the centrol grewp.

Whether the meun differences arq sigajficant csa be deterwined by

testing the mxll bypethwmie using the Y test of siguificanse. “The
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TARLZ II,
e 20008 fros Freioblovessss and Fisa) Aghlovessas Tegte oo

stey  Pre:tser  Figw Svege Fre-tasy  Zim)
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2 125 143 2 ol %0
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6 i 122 6 a w7
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13 oh 103 a3 96 187
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mll hypothestie i & useful told 1» testiag the reliadility of differences.
Iz its simplast fors, this hLypotbesis asserts thut there is w differesce
betveen two pofiletion mens, ead that the difference found Letveed saspls
mass is, therefore, eecidental ead untugertent.!

"Vhsg the mull hypethesis asy be rejected st @ high level of coa-

.ﬁn’ion-'»baoco%a.»nﬁrﬂgoo’%:
attrisuted S0 chance aloms; andi the populaticns differ in the treit
sessured. "2

The retio betvesn an ocdtained difference and 148 eetimsted
staadard erver is referred to as the significast resic or 't ecove. The
eritical value (Appendix D) which the sigaificant .w-n»ol!alooou.pu
order thet cas My declazre the diffmreace pignificant, depends upod the
level of confideate cas Gheoses %0 esplay. Acsnrding 10 Limdquiet,
comzom PrECtice i to utilize the 1% or 2% levels with 2.56 aad 2.33 es
the correspoading critical veluss of E sigaificant setio. However,
Garrett says thet the 5 level of ceonfidence is aflss mtisfectery,
ospeeislly in prelimioary vork.

The proceduwre for testing the signifigance of & diffwreace ie
siallar for large ead smll sampled, but ia the latter case, the signifi-
camt retio is caleulated diffuresily. The smll saspls fermila’ ves
i:go«c&g‘-ogiuouiﬁ.%ilng
Wirty-four. To ese this formula oes must find the dben and stamiart

. T Garrett, QE:EEW!E . 22,
“c. p. Linaquiet, A Pirst Gourse ELE
uE:.-: op. ¢it., p. 130.



Gsviation of the test remilta. Application of thle "¢* test to the
avalilable statistice than zesults in e significant Tatio or “t" wcore.

Fimsl Achisvemears Test 1.33

The couputed "L" scores for this problea are found in Teable III,
ﬂmmuuw.nmum&n. One less than
the 0120 of the sauple (N-1) 16 referred to as the ausder of degsees of
frevdon. In Appendix D, nusber thirty is the one applicable to this
study. Accordingly, the “t° scores vould have to be 2,75, 2.46, or
2,08 in order to be significent at the-one, two, or five per cent levels
of confidence.

The “t" scores for this problea (Twble III) are mot large emough
t0 rmte esignificance at aay oas of shese levels. Fma this coe smy
eouclude there Vs o Sigaiflmmnt Qifference ia the ssatal ability or
echtoveanat of the two Toups add the sull kyyothesie is sccepted.



CHAPTER V

SUMMARY AND CONCLUSIONS

This etudy attenpted 0 COmpAre the achisvemsat recosds of e

@oups of studants teught bWy sccialiszed apd lscture-gquestion tesaching

anthods .

e etudenis vere ¢f slmoet equel wntal adility asd were

- taught under controlled conditions,

Ous would mst Vant % £o %o the extress aad say fucts ere mot

important, but ia the teaching of history the developesat of euch things
88 attituies end 1deels, also, are 0f utwst isportamxse. Froa this experi-
asat the Writer bes axrived at the conclusion At the real valus of

sotinlized metdods cammot be mssswed. This is pofuted cut in e follow-

ing 118t of obJjectives of a United States History clase:

1.
a,
3.
N,
J.

6.
7.
8.

Acqitgition of iqportast inferwation,

Femilisrity with @ technical vocabulary.

Izxuaity to aalioicue proyagRads .

Fecility in iaterpreting mm 8.

Pecility 1n applying siguificant fucts end priaciples W
social probleas of daily life.

8Xxill in invastigating sscial scimce gzoblams.

1nterest 12 xeeding sbout 20cisl Follows asd discussisg thea.
Sensitivity to cwrreat probleas. -

Intereet in bumsa welfure. *

Rabit of workisg coopamtively with othexs.

Bsbit of collecting and censideriag AFpSYPrAsts cvidemd dafozre
mkiag isgartsat eccial éscielons.
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12, Developaent of attituies favoredbls to eccisl taproveuent.

Althougs ast sble to present proof, the wriser 18 of the opinilon
thet 19 of these cbjectives were achisved in the experimedtal groypy with
eocialised procedures tan in the c¢oetrol group with the lecture-guestica
mthod.

Gocialized procedures wore Dot fouad i be the complete aasver to
-~ dhis probiss of sstivation but mich interest vas apyereat ia @Ot of the
slass dlecuseions. Gocialised pro@dares were also found te be 200t
ouitakls to the guod studente vith ability %o exprese thesstlves, but the
vesk gtuidents Aid as much Or sore than the veak studsats im the coatrol
growp. The experimentsl stodents defisitely mede sore use of cutside
reluzence ssterisl in order ¢ prelere thommelves gor MO and otder
astignuanis.

Clsss ;vaotioa to» socislized mthods WBs guite Cuvorells, but the
writer £5als t00 much use WAe wds Of them in this partigular stady.
Afver Sour or five weaks, the cmu_wmmtumuw-mm
et e heginning.

The chisf deficieacy of the socialized procedures is that thay are
MLtadle ealy 0 cestail SubJect mstter, 6ad & class tmaght in thie mmmer
cammot covor the material quite as fust.

The ome specifie mh&m&twhm“mtmnm-
sigaifisant gotia in Xaovisdge, 88 WeRUIwd by the teets, ia either class.
F702 Wils one oy cosclude that ocoe methed of teachfig wes mot superior o
the other wmthed in regerd to asg@uisition of fectwml Xnowlsdge .

In su=iary the iavestigator feels that the alhssuwork ia the



experisental section definitely placed greater respomsibilities oa the
students, but the real value of this wethod cannot be weasured objectively.

L
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GEAPTIR V1
RECOMMERDATIONS

The lavestigater recommsnis ssre studies of this ssture teo
deteruine the tesching prusedarv ¥y vhich on¢ Ay odteia eaEimua
ashiovemsat fron studeats. There are se resowmwadations viich caa de

. conelusive on the basis of this study, but some of the following
cuggestions mighS de cossidered.

1. Gosialised groesdures canmat be exslesivaly wsed in soeial
otufies, dut sy e3¢ & sethod that sbould de used 10 soms dogree at
all tisse. lLessesns sheuld be s0cicalised in the cense that pupils eare
given b chance to purtigipate tut et in e stervotyped amnmer. Classvers
should be carzisd on, 00 Mth as po88ible, ia an air of freedsan. A goed
sestiigarnzganaat vill ales odd mech to this sethed of-iastrudtion.

8. Sseielined evthsds require that the tefuher Dave sot ealy o
hroad buslgrevsd—ia-the subject but alve sufficiest-kuovledge of the asnmtal
a%ility; socisl dsvelspamut, and eavizvassnt of varises gtudsats te emshle
Rio te give the needs of casd S(ndixidual ceasidesmiion.

3. 8ecialized weods &9 belp solve the psodlen of metivatiea.
Tusy teud %o Gorelap initiative, redpoastidility, cooperetion, sud either
leedarship or @good followezs $reits whoee dovelopamsl in amay claséreoa
situaticss sie datirély acglseted. D5120¢ sscialised psucedures reguire
besoas-ssasibai—faniiisr vith techaicel vosedbulezy: Taroigh dedete ead
S0battal,—stodants ecgulire & Epureases-of gaada Sad o
dogrée of Lmmity % it. UGivem & predles to—wsive—en—thetr-ove-
iaitistivetauywinglify it, 10 posssidle, by applying fests aad prissiples
of %heir ova daily lives to it therefore, they isveetigate sot caly Wy
resding of the predlems of the pass;, dut aleo By discuesiag sisilar
proviums of the Fredent vith sduxlts femiliar vith 1t, and thexedy they
oAla skill f{a Lavestigeting.
8. Thie writar belleves that in this etudy, -too much use of
socislized precedures vas mads {a the experissatel ¢iass. He would
‘ o eomhizstion of Doth the lecture-questise ant seeisiised
¢ 60 & =saas of ashipviag the odjeetives of tesshiag hietory. As
Biaing hes steted, "Mady ektrevagant ¢laiee have-dees—side for secislised
eetlods. It is, bovever, se gapsese for ell educetiomsl ills."
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APPEEDIX A
BANPLE LESSON PLAN

Tive Cessrul aime of Assricen Kistoryt
1. The Teaching of certain definite knowledge
11. The Jdevelopmest of reasoning pover And critical judges=at
III. Tminiag in iodependsst—estudy
IV. Perastion of-bebite—end akille
Y. Deesisrsble petterns of condhict

The epecific sia of the firet veek's work was to give the students
an uxieretanding of the may factors responsidble for the developasat of
enctiomml differences in this country and hov Wese differwixes resulted
i » Civil War, 5uch en underetanding should result in en avareneps of
the comtinuity of Listory;, andthet—thecompianity and ipterdependsace of
Jumn reistiocas iavolve @mMay prudless.

The sudject satter wvas indicsied by the unit heeding, "Row the
Various Secticss of Our Country Develoged Conflicting Ianteresta”™.,

Experimental Group

oaday - Topicel repurts asd discuasion
I. Second Bapk of the Uaited States
I1. Teriff er 1836
III. Slsctien of 1880
Iv. Clay's Assricean Systen
V. Developmsut of Secticaal Differences

Tussday -~ Tupicsl reports end dedates
1. Rlsctioca of 1601
II. Hiesory of Teriffes
1I1. Debate - Tariffs ve. Fiee Trade

Vedneoday - TOpiSal reporte 8ad Sdiecusdion
1. Jecksoa's Pight vith the Netiomsl Bemk
II. Revolutioa of 1088
IZ1. Calboun's Expositicn and ?umt
1v. Teriffof 1832

Tuareday -~ Pansl diecussion of Btates Rights

= iaing, op. eit., p. 38.



Coatyol Group

Monday - Discuss the financial conditions of whis country during
ﬁm—m-.mmmmwwxwthcn
vondlitions, and the beginning of sectiomal differences.

Tuesday - Discuss the history of tariffs and explain ressons for
and sgainst tariffs.

Wednesday - Discuss President Jackeon, his finmncial policies,
end the r»evelution of 1528.

‘ Toursday - Discuss states rights vith reference to Hayne and
Wsbstar; slso, discuss the constitution sud our federel aysten of
goverament .

Fs
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Otis Quick-Scoring Mental Ability Tests: New Edition

q‘ »
- GAMMA TEST: FORM EM GAMMA
i g EMm
by Arthur S. Otis
Do not open this booklet, or turn it over, until you are told to do so.
Fill these blanks, giving your name, age, birthday, etc. Write plainly.
I_‘Ia;une ....... FTATIRTRRERERETY FFTIRRTETIREE firiia Grade. ....... Boy:..:.. 4 Girl....... ]
AL Of Dirth. . . . . e e How old are you now?. .. .....
Month Day Year
Rte. .. ... ... 19..... School... ... . w0 H.of N City and state. ;. mmne N . St

Read these directions, Do what they tell you to do.

This is a test to see how well you can think. It contains questions of different kinds. Under each question there are
four or five possible answers. You are to read each question and decide which of the answers below it is the right answer.,
Do not spend too much time on any one question. Here are three sample questions.

Sample a: Which one of the five things below is soft?
(1) glass  (2) stone (3) cotton (4) fron  (5) ice

The right answer, of course, is cotfon. The word cotton is No, 8. Now look at the “ Answer
Spaces for Samples” at the right. In the five spaces after the Sample “a,” a heavy mark has
ANSWER SPACES
been made, filling the space under the 3. This is the way to answer She questions. FOR SAMPLES
Try the next sample question yourself. Do not write the answer»'iust put a heavy mark in
the space under the number corresponding to the right answer.

3 4 S
g o
Sample b: A robin is a kind of — EREE
(6) plant (7) bird (8) worm (9) fish  (10) flower B B
The answer is bird, which is answer 7; so you should answer Sample “b” by putting a heavy 4 2 e lf

mark in the space under the 7. Try the Sample “c.” ® & i il

Sample ¢: Which one of the five numbers below is larger than 55?7
(11) 63 (12) 48 (13) 29 (14) 67 (15) 18

~ The correct answer for Sample “c”’ is 67, which is No. 14; so you would answer Sample “c” by making a heavy black
mark that fills the space under the number 14. Do this now.
~ Read each question carefully and decide which one of the answers is best. Notice what number your choice is. Then,
n the answer sheet, make a heavy black mark in the space under that number. In marking your answers, always
Eanre that the question number on the answer sheet is the same as the question number in the test booklet. Erase
mpletely any answer you wish to change, and be careful not to make stray marks of any kind on your answer sheet
%on your test booklet. When you finish a page, go on to the next page. If you finish the entire test before the time is
» £0 back and check your answers. Work as rapidly and as accurately as you can.
" The test contains 80 questions. You are not supposed to be able to answer all of them, but do the best you can. You
will be allowed half an hour after the examiner tells you to start. Try to get as many questions right as possible. Be
careful not to go so fast that you make mistakes. Do not spend toogpuch time on any one question. No questlons
about the test will be answered by the examiner after the test begins. Lay your pencil down.
| Do not turn this booklet until you are told to begin.

=

Published by World Book Company, Yonkers-on-Hudson New York, and Chicago, Illinots
. Copyright 1954 by World Book Company. Copyright WGreat Britain. Al rights reseroed

FRINTED IN U.B.A. GAMMA : XM- 7

This test is copynighted. T he reproduction of any part of it by mimeograph, hectograiph, or in any other
way, whether the reproductions are sold or are furnished free for use, is a violation of the copyright 0.




A.NSWER SHEET OTIS QUICK-SCORING—NEW EDITION: GAMM,
Page | Page Page Page

66 67 63 6 0 o6 67 68 69 70 26 27. 28 39 80

n 72 13 14 15 71 72 1 M 7S 31 32 33 M 35 ] T 8 _0_ 19
LU I i 47 | i 28 || i | | a2 E [ R
% 77 18 719 7 77 18 W 8 36 37 38 3 40 11 12 13 14 15

e
=
b
@

16 17 18 19 20

26 27 28 29 30

w8 0 H 0 H efi 0B il

16 17 18 10 20 6 7 8 ] 10 61 62 63 84 (1) 36 37 38 »

70 . " | 562 i i 1 29 13 t 1 i i t
11 12, 138 14 15 66 67 68 €6 70 41 42 43 44 45 I

31 22 23 2¢ 25 71 72 73 4 73 460 47 48 49 50

ofl § §f 1] e all & B8} 10

il W Q0 sl HOHil N ahi B 0 K u i

31 a: 33

21 22 23 24 25 i 2 3 L E &7 58 59 60
Ot oa i
™

e i I o H S 18 i
26 27 28 29 a T 8 ] 10

B

41 42 43
s i

61 4 If H- 1 45 i M3l B T30 | S
2t 22 23

w i '
46 47 48 419 60 36 37 38 39 40 20 27 28 20 30 71 72 73 ™ 75
1 i 1i } | f |t 1} i : | 1 ! H

9 o Hon o I | G RS L 1 R B . 16 || fi i
41 42 44 44 4B 31 32 33 ¥ 35 76 77 78 19 80 |

o KO0 i 8 H oA 18 1 -

61 652 63 54 &6 36 371 38 39 40 1 2 1 4 s |

Scor

&8 89 80 46 47 48 4 50

51 82 B3

L o i I

61 62 & @& 65 51 52 83 16 17 18 19 20

Ml ot hs
~3
(- -3
=]

125713, 14

t

Years
3
[
5

56 &7 63 659 60 56 57 58 69 80

g ez I H i il i “w i i
< 66 67 63 W 70 681 42 &1 B 65 61 L] 1] 64 65 n 2 28 M 25
E.' 1 E: i i} - 1z 15 11 (14 ] 11! T HH I3 T HH
80 | i i 63 : :: . 16 ' i :. £l .': 2

NOTE. This Answer Sheet is not intended for machine scoring. [ 2]
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I
1 An automobile is most likely to have —

(1) aradio (2) a heater (3) a gasoline tank (4) a spare tire  (5) fenders. .. |
2 A word meaning motion on an axis is —
) (6) progress (7) acceleration  (8) rotation (9) vibration  (10) retardationm. .. ..
3 The woodpecker gave the tree many pecks in quick —
(11) rotation  (12) order (13) pecks (14) succession  (15) simultaneity......
4 A horse does not always have —
(16) a heart  (17) eyes  (18) horseshoes (19) skin (20) atail..............

5 The opposite of generous is —
(21) economical (22) poor (23) homely (24) sick (25) stingy..............

6 A manis always (?) than his daughter.
(26) taller (27) wiser  (28) older (29) darker (30) fatter..................

7 A queen is to a king as an aunt is to —
(8l) aruler (32) anuncle (33) a cousin  (34) a mother  (35) a nephew.....

|
*.
8 The first drawing below is related to the second as the third is related to one of the remaining four. Which one?

(o) 5 -
e BP0 B D oy
This is to this \&J as this is to this— (36) |e] 37 L (38) (39)

9 The opposite of strange is — ] |
(41) easy  (42) familiar  (43) often (44) cordial (45) close .................

10 A race must always have —
(46) spectators (47) acircular track (48) #'starting gun (49) contestants (50) victory|

11 A vacuum cleaner is to a broom as an electric refrigerator is to —
(51) a kitchen (52) a stove (53) electricity (54) an icebox (55) an invention

12 A party consisted of a man and his wife, his three sons and their wives, and four children in each son’s family. How
many were there in the party?
(56) 9 (57) 10 (58) 12  (59) 18 (60),200 .0 ... ..o T e B O

13 Wool is usually more costly than cotton because it is — ' i
(61) heavier (62) softer (63) more difficult to produce (64) coarser i
(65), harder-to'keep cleam; .. ... =5 e e oo T NED T T R S

14 The opposite of natural is —

16 What letter in the word INDEPENDENTLY is in the same position in the word (counting from the beginning) as it is|

in the alphabet? i
MTHE (@72)D @)L (4N (AT« 3. o . e A e e Pl e DT

18 Which of the five words below is most unlike the other four? [
(76) lie (77) walk  (78) cheat (79) steal (80) swindle. . ................... |

17 A church is most likely to have a — |
(1) steeple (2) bell  (3) congregation  (4) pipe organ  (5) choir.............

18 Which of the five words below is most unlike the other four? -
6) ine  (7) climb  (8) shiny (9) clean (10) mellow.......................

A 0O &) O e X &)
19 This O [Jis to this A O as this Y0 ¢ isto this — (1) T 2fW P a3y P E 14 P

20 Which one of the five words below comes last in the dictionary?
(16) mare (17 st (I8) mire (19) mile (20) lore....................:«. 8

21 One number is wrong in the following series. What should that number be? 1
3 9 27 36 243
O 2 (22) 81 (Z8) B  (20)16  (Z5) @5 cnromen i i ]

[3] (Goonto the next page.)
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64 The opposite of effect is — :
(66) result (67) outcome (68) cause (69) consequence (70) influence

66 A charge that is far above what is customary or reasonable is said to be —
(71) expedient (72) expensive (73) unqualified (74) exorbitant (75) exd

66 Which one of the five things below is most like charcoal, tar, and coal?
(76) wood (77) ashes (78) sand (79) soot (80) dirt................

67 One number is wrong in the following series. What should that number be? ’
10 11 13 16 20 25 30 38 |
V12 @15 (319 @ 24 EMST N, e L8 B B VR |

68 A fruit punch is made of a mixture of 2 parts grapefruit juice to 3 parts orange juice. How many quarts of #
juice will be needed for 15 quarts of the mixture?
(G310 50 (BM9: " L(9)eA10% (TONA2WT A SR TN R TN e

69 If you take plenty of time doing a thing, you do it —
(11) carefully  (12) leisurely (13) tardily (14) lately (15) poorly ... ..

70 Tom can read 30 pages of a book while Ben reads 20 pages. How many pages can Tom read while Ben reads 30 §
(b6) ' 40" (177600 % -§18)} 60" "__WIAFA5T T (20% 35180 ==diiham . Sl ]

7L Astronomy is to the sun and stars as (?) is to breathing and digesting.
(21) physics (22) mathematics (23) physiology (24) chemistry (25) th

72 If a rubber band 24 inches long is stretched to be 30 inches long, how long will an 18-inch section of the band
(26) 21in. (27) 233in. (28) 22}in.  (29) 24in. (30) 25inm.... ......

3 & ) ) q!
73 This E:Iis to this Y]D as this %is to this — (31) QO (32) a0 (33) QO (34) OO

74 One cannot become a good stenographer without diligent practice. Alice practices stenography diligently. Alice 'y
come a good stenographer.
If the first two statements above are true, the third is —
(36) true (387) false (38) unmcertain.............. ... .. ... ... ... ... |

76 Which of the following four pairs of words is most unlike the other three pairs? l
(41) grass, lawn  (42) start, begin  (43) street, road (44) pretty, ugly. ...

76 tI;f the éollpvging words were rearranged to make the best sentence, with what letter would the second word of th
ence begin?

money  the works more harder the man q earns  he |

(@6) My " U7 -he™ 148y YD) oM T (SHCtE Moo NN sl LWEE L |

Queslions ??7-79 are based on lhe figure al the lefl.

1 1 7 What number is in the smallest space that is in the circle and the trian
/ \ not in the square?
2 3 (61)*d | 24l (68 2 Luelt) 3 (55)

6 1 78 What number is in the same geometrical figure or figures (and no others) "
number 3?7 (The geometrical figures are the circle, triangle, and square.)
4 : (56) 1 (57) 3 < (38) 2  (89) 4 ©0)

1 \5/1 79 How many spaces are there that are in any two geometrical figures, but

'
only two? *
;
'.

(61) 1 (62) 2 (63)3 (64) 5 (65)

80 Ifa pigc;e of rope 20 feet long is cut into two pieces, so that one piece is % as long as the other, how long will the
piece be?
(66) 131 ft. (67) 10ft. (68) 16ft.  (69) 16ft.  (70) 12ft.. . .. .. . ... ..

(6]
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46 A city council is to a city as a (?) is to a state.

(66) mayor  (67) legislature (68) judiciary  (69) citizenry  (70) governor.. ..
17 A thing that conforms to accepted standards is said to be —

(71) odd  (72) ordinary  (73) fantastic = (74) legitimate (75) unusual.........
48 A lake is to the land as (?) is to the ocean. |

(16) water  (77) a ship (78) amisland (79) awave (80) a beach..... .

49 Find the two letters in the word WATER that have just as many letters between them in the word asin the alphabet.
Which one of these two letters comes first in the alphabet?
B W T82) A 1 @NTD » (BANE (BT R e ..ok (85 g o

P oio (& - A
50 This O O is to this Aﬁa as this is to this —  (86) Aia 87 B8) A A (89

61  Some members of this club are Methodists. S ome members are musicians. Some members are Methodist musicians.
If the first two statements above are true, the third is—
(1) true  (2) false (3)] uNCERtATIs. heyd . A iieews - o ™ Sronae B A O SR . o M |
|

62 The opposite of sincere is —
(6) boastful (7) unfortunate (8) hypocritical (9) cantankerous (10) sad.... .. i

53 If the meaning of a sentence is not clear. the sentence is said to be— T.
(11) incorrect (12) absurd (13) contradictory (14) obscure (15) false...... {

54 If the following letters were placed in the order opposite to that in which they appear in the alphabet, what ' . ‘
would the fourth letter be?

(165 G (A7) Eo [(AB)B  (19) T, " (20)%B" . k. -8 F B 1. T _

66 How nany of the following words can be made from the letters in the word NAVIGATOR, using any letter twice if g

necessary': . .
vigor  navel tratn  native gravitation gainer  night grain gqiant |

@16 (226 (23) T 1424) 37 (BH) R '\ .. b gy s - P G G, e *_

56 Which of the four words below is most unlike the other three? |
(26) strike (27) pound (28) rell (29) club ......C.. .ol ey

67 If the words NAN, NON, DAD, PEP, and TOT were printed on a wall and looked at through a mirror, so to speak,l

how many of them would appear exactly as if seen directly?
(81), 27 (I3 LS8 T3 0 ) T35 Twog | ol cn . Ll o S |

68 One number is wrong in the following series. What should that number be?

125 6 9 10 13 14 16 18
@6) 11~ (3D 12 (88) 19 (3945 (40) 1T........... T . md

52 If 4} yards of lace cost $9, how much will 3} yards cost?
(41) $8.00 (42) $7.50 (43) $4.50 (44) $7.00 (45)7$3:80. | - 1| AT T

60 Which word is needed to begin the following sentence?
it is cloudy, the moon will be visible tonight.
(46) If (47) Although  (48) Sin‘ca (49) Because 60) UHIaES . ;. . 4 bbu iy Mg

| S (G =) 07 oG] D) 0D
61 This is to this as this | is to this— (61) (52) (53) (54)

62 If the following words were rearranged to make the best sentence, with what letter would the fourth word in the sen-

tence begin? . :
money  considered  making making important tS__ friends  than more
G56) m  (57) ¢ (68 i (B £ (BO) k. i .. R el e

63 A word meaning to refuse, reject, cast off, or disown is — ' ; I
(61) reciprocate (62) resign (63) requisition (64) repudiate (65) retaliate. s

(5] (Go on to the next page.)
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22 A tape measure is to distance as a clock is to — '
(26) its hands (27) an hour (28) time (29) a watch (30) school. .. ...

23 If 3% yards of ribbon will make 25 badges, how many badges will 10 yards make?
(31) 260 (32)33% (33) 76 (34)10 (35) 50............. ————

2¢ Physician is to doctor as attorney is to —
(36) client (37) patient (38) office (39) lawyer (40) professional... ..

26 ‘%!3‘1 thc? goys in this room are members of the Y.M.C.A. Frank is in this room. Frank is not a member §
If the first two statements above are true, the third is — I
(41) true  (42) false  (43) unmcertain................. ... ... ... ... |

26 If the following words were rearranged to make the best sentence, with what letter would the second word in
the sentence begin? r
as about means tall same the high
46) t (47 a (48 m (49) s (B0 h... ... ... .. ]

27 If 10 boxes of apples are worth $20 and each box is worth 15¢, how much are all the apples worth without the b*
(61) $1.85 (52) $18.60 (63) $19.85 (54) $20.16 {55)119$21:50. .= L1 -8

38 If we are patient with people whose opinions or ways differ from ours, we are — .
(56) conservative (57) radical (58) tolerant (59) superior (60) compassi_+

2% A rosebush must have —
(61) roses (62) thorns (63) roots (64) fertilizer (65) buds........... |

30 If pencils are 3 for 10¢, how many can be bought for 90¢7? ]
. (66) 9 (67) 30" “(68) 270 5 (69271 ; (T0)"1900 .. = .. ... . Fie mpat .

31 And is to band as (?) is to bend.
(71) bin (72) send (73) end (74) knee (75) lend....................

32 Transport means to carry across; transmit means to send across. Therefore, trans means —
(76) tocarry (77) tosend (78) around (79) back (80) across........
S—"\

88 This H_I_H is to this g as this i8 torthls — T (B) | (3) % 4) ZZZR

34 If a motion-picture camera can take 6 pictures in } of a second, how many pictures can it take in 10 seconds!
(6) 16 (Hr24-=,(8) 2405%{0)#60" =7 (10) MO === T L Ty L o |

365 Which of the following pairs of words is most unlike the other three pairs?
(11) east, north  (12) short,long (13) hard, soft (14) wet, dry....... ... :
36 Will go is to went as tomorrow is to — |
(16) today  (17) leaving (18) yesterday (19) time (20) motion........
37  All persons living in this apartment are Republicans. Swmith is not a Republican. Smath lives in this apartment.
If the first two statements above are true, the third is — (21) true  (22) false (23) uncertain.......... |
38 Grand is to gland as (?) is to plank.
(26) board (27) prank (28) blank (29) lank (30) plant ...............
39 Which of the following words is most like love, anger, and hope?
(31) fear (32) smell (33) life (34) think (35) do...... b i R

\A
S——""\
S—~

40 The opposite of general is —
(36) specific  (37) ordinary (38) prevalent (39) inferior (40) subordina‘
41 What letter is the third letter to the left of the letter that is midway between L and T in the word EXPLANAT]
41) N 42) P 43) I @44 E (45 A
42 To insist that roses can feel sad is —
(46) wicked (47) unfair (48) absurd (49) improbable (50) misleading.

438 Carl is younger than Harry. Peler 18 younger than Carl. Harry s older than Peter.
If the first two statements above are true, the third is — :
(81) true  (562) false (53) uncertain
44 Which of the following is a trait of character?
' (66) sincerity  (57) deafness  (58) skill  (59) poverty  (60) intelligence..
46 A club that accepts only very rich members is said to be —
(61) snobbish (62) exclusive (63) conservative (64) Republican (65) un-Ame

[4] (Go on to the next,
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Test 5 NAme* » - s s 5
Chapters 9, 10

9-12.

13’16-

21.
22,
23.
24.
! 25.

26.

28.

APPENDIX C 24

American History Test

BASED ON CANFIELD AND WILDER'S
THE MAKING OF MODERN AMERICA

Several answers are given to each of the following questions. Write a plus sign
in the parenthesis after each true ansver and a zero after each false answer,

How did the spirit of nationalism affect the history of our country from 1815 to
18307

a., The United States became a self-sufficient nation.

h. A protective tariff was enacted to encourage the development of manufacturing.
c. A better currency was provided by the creation of a Second United States Bank.
d. The "states rights’ doctrine disappeared from our national politics.

A~ NN~

Vhat were the immediate reasons for issuing the Monroe Doctrine?

a. Russia’'s ambition to push the boundary of Alaska southward.

b. Our desire to dominate the Latin American countries.

c. England’s activity in the Oregon country.

d. Our belief that Spain was planning to re-conquer her former South American
colonies.

- o~ o~

Why did the slave question become important when Missouri applied for admission as
a slave state in 18207

a, Because Missouri was the first state formed out of the Louisiana Purchase. (
b. Because slavery had been prohibited in the Louisiana Purchase Treaty. (
c. Because 1t would upset the even balance between free and slave states, (
d. Because the North had a larger number of representatjves in the House than the
South. = (
What were the chief provisions of the Missouri Compromise?
a. Slavery was to be abolished in the District of Columbia. (
b. Missouri was to be admitted into the Union with slavery. {
c. Maine was to be admitted into the Union as a free state. (
d. The remainder of the Louisiana Purchase Territory was to be organized on the
principle of “popular sovereignty”. (
What were the most troubl esome problems during Jackson’s administration?
a. The sectional dispute over slavery. E (
b. The sectional dquarrel over protective tariffs. (
c. The quarrel over re-chartering the Second United States Bank. (
d. The quarrel with Spain over Florida. (

In the parenthesis at the right, place the number preceding the word or phrase

which is the best answer.

The most troubl esome problem during John Quincy Adams’ administration was-(})tariffs,
(2) slavery, (3) internal improvements.

The Monroe Doctrine is- (1) an agreement between England and the United States, (2) a
statement of our foreign policy, (3) an alliance between American Republics.

In his famous “’Exposition and Protest”, Vice President Calhoun-(1) revived the
doctrine that the states should be the judges of whether or not Congress was over-
stepping its power, (2) defended Clay'’s American System, {3) advocated internal
improvements sponsored by the Federal government. (

Calhoun'’s Bonus Bill advocated-(1) high protective tariffs, (2) a bonus for the
veterans of the War of 1812,(3)projects for internal improvgments at national expense(

Real opposition to the enactment of tariff legislation first appeared in-(1) 1789,
(2) 1812, (3) 1828.

The nullification controversy of 1833 arose over- (1) slavery, (2) tariffs,
(3) internal improvements. (

Henry Clay helped to avoid serious trouble over the tariff question by proposing-
(1) a tariff for revenue only, (2) todiscontinue tariffs, (3) a gradual lowering
of tariffs. (

President Jackson was bitterly opposed to the Second United States Bank chiefly

because- (1) it stimulated speculation, (2) opposition to it was popular with the

common people, (3) it issued unsound currency. (
' Go right on to the next page.
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The Panic of 1837 was largely the result of- (1) speculation and over extension of
credit, (2) government interference with business, (3) high tariffs. {

After the Panic of 1837, the Federal government- {1) deposited its money in state
Banks, (2) chartered a Third United States Bank, (3) established the Independent
Treasury System.

A serious drawback of Clay’s American System was that-(1) the South did not benefit
as much from i1t as the East and West, (2) i1t failed to contribute to the industrial
development of.the East, (3) the West did not benefit as much from it as the South

and East. {

The United States acquired Florida by- (1) conquest, (2) purchase, (3) annexation. |

Write a plus sign in the parenthestis after each true statement and a zero after
each false statement.
It is difficult to make national laws which do not seem partial or unfair to one

section or another.

John Quincy Adams was a popular president. !
The Missouri Compromise was a remarkable victory for the South.

Both President Monroe and Jackson vetoed internal improvement appropriations.
Jackson was the first president to make use of the ''Spoils System” .

The Southern States openly supported South Carolina when she nullified the tariff
act of 1828 and 1832. |
When the Whigs came into power, Clay and Webster expected to be the power behind
the throne.

The spread of democracy in the United States is closely linked with the name of
Andrew Jackson.

President Van Buren was to blame for the Panic of 1837 and the other misfortunes of
of his administration. : (
President Tyler and Henry Clay agreed on all questions concerning the policy of his
administration. i
The Whigs managed to force the Democrats out of office, but they failed to undo the
work of Jackson. l

Match the following, placing the corresponding number of the left column in the
correct parenthesis at the right.

Henry Clay 44. Spokesman for the South and a leading opponent of the

William H. Harrison Tariff Act of 1828.

James Monroe 45, The man who is entitled to much of the credit for

Martin Van Buren President Monroe’s successful foreign policy.

John Quincy Adams 46. The statesman who sponsored most of the compromises

Andrew Jackson between the North and South.

John C, Calhoun 47. The man who, in one of the most powerful speeches ever

Simon Bolivar delivered in Congress, defined the nature of the Union

Robert Hayne 48. Jacnson's personal choice for the Presidency in 1836.

Daniel Webster 49, The man who defeated Van Buren in the presidential

John Tyler campaign of 1840.

William H. Crawford 50. President who sought to solve the Indian problem by mc
ing all Indians to lands west of the Mississippi
River.
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13 BASED ON CANFIELD AND WILDER'S
THE MAKING OF MODERN AMERICA

In the parenthesis at the right, place the number preceding the word or phrase

which is the best answer.

Wiitney's cotton gin has been called one of the most fateful invention in history
because it-(l)led to an over-production of cotton,(2) fastened slavery more firmly
upon the South, (3) reduced the cost of cotton cloth. e ol

The chief demand of the West was- (1) internal improvements at federal expense,
(2) protective tariffs, (3) a sound currency system. (e )

The progress of American manufacturing was slow until the-(1) War of 1812,(2) War
Between the States, (3) First World War. L)

The federal government’s first contribution to the cause of good roads was the-
(1) Wilderness Road, (2) Cumberland Road, (3) Common Road. ({99

The Turnpikes of the early 19th century were financed chiefly by- (1) the state
governments, (2) the federal government, (3) private capital. « )

The factory system was introduced in the United States by- (1) English capitalists,
(2) Samuel Slater, an immigrant from England, (3) the federal government. (3

The first-railroad in America was the-(1) Union Pacific, (2) Baltimore and Ohio,
(3) Charleston and Hamburg. 2 Gl

Next to the existence of slavery the most conspicuous difference between the economic
system of the North and Souyth was the almost total absence in the South of-(1) fac-
tories, (2) investment capital, (3) natural resources. (G)

The great majority of Southern whites- (1) owned slaves, (2) owned no slaves at all,
(3) were wealthy planters. )

The chief aim of the South was to- (1) develop manufacturing, (2) safeguard and
extend the plantation system, (3) diversify.its agriculture. | B

The wealth of the South was mainly invested in- (1) slaves and land, (2) unproduc-
tive enterprises, (3) Northern industrial enterprises. )

The early labor unions in the United States were-(1l)restricted largely to unskilled
workers, (2) dominated by socialists, (3) restricted largely to skilled workers. (

Progress in labor organization was slow chiefly because-(1) it had been regarded il-
legal for workers to band together for the purpose of raising wages, (2) working con-
ditions were satisfactory,(3)a laborer’s jobwas his only chance tomake a living. ( }

In 1800,li1fe in America was characterized by-(1)an excellent system of transportation,
(2) an excellent system of public schools, (3) a rapidly growing population,

The settlement of the West led to- (1) a spread of democrgtic ideas throughout the
nation, (2) rapid expansion of manufacturing, (3) anti-slavery movements.

Before the War Between the States, most immigrants came from- (1) the upper classes
of European society, (2) southern and eastern Europe, (3) Great Britain and North-

western Europe. o

The rapid growth of cities in the North was largely due to the fact that-(1l) cities
offer more opportunities for amusement than rural areas,(2)the manufacturing indus-
try was centered in the North, (3) it was easier to earn a living in cities than in
rural areas. (=)

The carrying trade and ship buildingdeclined in the United States because-(1) the speed
of the clipper ships caused American shipbuilders to under-estimate the importance

of steamships,(2)the English lowered their freight rates,(3)our foreign trade de- G 3
clined.

After the War of 1812, the market for agricultural products was revived chiefly by-

(1) a greater demand for food from European countries, (2) the development of manu-

facturing and the resultant growth of cities, (3) governmental price supports. (.
Go right on to the next page.
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In 1816, the American colonization Society was organized to- (1) free the Negro
slaves, (2) send emancipated Negroes to Liberia, (3) defend slavery. [

The first state to forbid the retail selling of intoxicating liquors was-(1) Ohio,
(2) Illinois, (3) Maine. {

The “underground railroad” was- (1) a secret route for aiding slaves to escape to the
North or Canada, (2) a secret route for smuggling free Negroes kidnapped in the North
into the South, {3) a secret route for smuggling Negroes from the West Indies into

the United States. (

The Mormon movement owed its origin to- (1) Brigham Young, (2) Joseph Smith,
(3) the Grimke Sisters. i

In 182) the first free public high school was established in- (1) New York,
(2) Indiana, (3) Massachusetts. [

The first free state university in America was established in 1837 by-(1) Michigan,
(2) Minnesota, (3) Pennsylvania.

The crowning achievement of American life in the middle of the 19th century was-
(1) its growing public school system, (2) its use of practical results of the
sciences, (3) its progress in fine arts. {

Write a plus sign in the parenthesis after each true statement and a zero after
each false statement.

Americans produced no works of literary importance before 1850. i
A wave of reform and "Juplift” characterized the period between 1830 and the War
Between the States.,

The United States had always imposed some restrictions on immigration.

Women have always had egual educational opportunities in America.

The agitation for Women’s rights did not begin until the 20th century.

Before 1850, the agricultural prosperity of the South was solely dependent upon

——

cotton. L
On the whole, the slaves of the South were considerately treated. {
In the first half of the 19th century, many implements were invented to lighten

the burden of farmers. i
The Liberty party was pledged to protect the institution of slavery. !
The abolitionists kept the slavery question before the people. {
Begore the War Between the States most workers labored from twelve to fifteen hours(
a day.

By 1856 several states of the North and West had passed laws intended to stop the
sale of distilled spirits. i

The South, with an abundant supply of cotton, took an early lead in the manufactur-
ing of textiles.
Northern abolitionists discouraged the slaves from revolting against their masters. (|

Match the following, placing the corresponding number of the left column in the
correct parenthesis at the right.

Herman Melville 41. The best known of the various abolitionists. (
Ralph Waldo Emerson 42. Wrote stories about Indians, woodsmen, and the Revolution
James Fenimore Cooper ary War.

Henry W. Longfellow 43. Author of Moby Dick, rated as one of the master pieces
Washington Irving of American literature.

William L. Garrison 44. Poet who wrote about common folk and nature in bold free
Walt Whitman verse.

James Russell Lowell 45. The best known and most widely loved of all American
John Greenleaf Whittier poets. (
Nathaniel Hawthorne 46, Anerican poet who was regarded abroad as the leading
Horace Mann spokesman of American ideals.

Edgar' Allen Poe 47. An outstanding American essayist,poet and philosopher. (
William Cullen Bryant 48. Anerican author who developed standards for judging
George Bancroft literature.

William G. Simms 49, The most important figure in the growth of public edu-

cation in the United States.
S0. The first ambassador whom the New World of Letters sent
to the Old World. (

Copyright 1956, Northwest Educational Bureau, Fargo, North Dakota
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American History Test

THE MAKING OF MODERN AMERICA

Several answers are given to each of the following questions. Write a plus sign
in the parenthesis after each true answer and a zero after each false ansver.

What were the chief results of the Mexican War?
a. We took Mexico under our control as a protectorate. L
b. Tge qar united our people more firmly in devotion to the highest national

ideals.
c. Mexico acknowledged our title to Texas, New Mexico and Californi a. % ;
d. The war revived the slavery dispute between the North and South. &t
What was the basis of the American claim to the Oregon territory?
a. We were the first white people to visit it. & =)
b. The exploration of the region by Lewis and Clark. ( )
c. The discovery of the Columbia River by Captain Robert Gray. ()
d. It was included in the Louisiana Purchase. ( )

Why did the Compromise of 1850 break down?

a. Because the fugitive slave law failed to win Northern support. ()

b. Because the leaders of the Republican party refused to accept the Compromise of
1850.

c. Because the Compromise of 1850 was a distinct victory for the South,

d. Because the abolitionists kept the slavery question before the people.

I~ —

What were the chief results of the Kansas-Nebraska Bill?

a., It quieted all sections of the country for the time being.

b. The Republican party was organized to-oppose the extension of slavery.

c. It resulted in the inauguration of an era of violence in the territory of
Kansas.

d. It increased Douglas’s popularity among the Northern Democrats.

-
S N

——

What causes led to the secession of the South?

a. The economic and political grievances of the South.

b. The election of Lincoln on a platform opposed to the extension of slavery.
c. The refusal of Congress to enact a fugitive sliave law.

d. Southern opposition to democracy. -

o~ — —

In the parenthesis at the right, place the number preceding the word or phrase

which is the best answer.

The underlying cause of the Mexican War was- (1) Mexico's attempt to reconquer

Texas, (2) the annexation of Texas and the subsequent boundary dispute, (3) the
mistreatment of American settlers in Mexico « )

The platform of the Whigs in the election of 1844- (1) was silent on the subject of
Texan Annexation, (2) announced its apposition to the annexation of Texas, (3) announc-
ed its opposition to the re-occupation of Oregon.

President Tyler-(1) was opposed to the extension of slave territory,(2)refused to
recognize the independence of Texas, (3)negotiated a treaty of annexation with Fhod
Texas.

It proved difficult for Congress to pass a law setting up civil government for the
territory acquired from Mexico because- (1) Northern members wanted to exclude

slavery from it, (2) of the opposition of the Spanish inhabitants in the territory
(3) there were no civilized inhabitants in the territory. (

{

The Fugitive Slave Law of 1850-(1) was acceptable to the North, (2) depended upon
the state authorities for its enforcement, (3) put the whole power of the federal
government behind the South for the return of runaway slaves. A

The United States acquired the Oregon territory HYy- (1) conquest, (2) purchase,
(3) a compromise with England. G

The Ostend Manifesto demanded the possession of-(1)California,(2)Cuba, (3) Texas. (
The final addition to our continental territory';as- (1) the Gadsden Purchase,

(2) New Mexico, (3) the Oregon country. A
Go right on to the next page.
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John Brown's raid was an attempt to- (1) force the North into war, (2) force the
south to secede, (3) free the Negroes by force,

The issue in the Lincoln-Douglas debates was over the- (1) harmony of the Dred Scott
Decision with squatter sovereignty, (2) right of states to secede from the Union,
(3) right of Congress to abolish slavery. |

The Dred Scott Decision- (1) ended the anti-slavery agitation, (2) declared the
Missouri.Compromise had been unconstitutional, (3) declared Congress had power to
regulate slavery in the territories.

The Freeport Doctrine was proposed by- (1) Douglas, (2) Lincoln, (3) the Republican
party. : {

The Republican platform of 1860 called for the- (1) immediate abolition of slavery

cation of the principle of squatter sovereignty,

(2) avowed his belief in the right of secession, (3) believed that the South had ne

President Buchanan- (1) displayed a great firmness in dealing with the seceding mmT
right to secede and the North had no right to prevent secession. (

When Lincoln took office on March 4, 1861, he faced a critical situation because-
(1)Fort Sumter was under Confederate attack,(2) seven southern states had already
seceded from the Union, (3) a Confederate army was preparing to invade the North. |

Write a plus sign in the parenthesis after each true statement and a zero after
each false statement.
Mexico had always been hostile toward the immigration of Americans.,

Between 1818 and 1846, the United States and England occupied Oregon jointly,
Mexico had recognized the independence of Texas.

The Texans were eager to join the United States.

The Mexican War was wholeheartedly supported by all sections of the country.
Religious organizations played an important part in the early settlement of Oregon(
In spite of a successful war, the Democratic party was defeated in the election of
1848. |
Support for the Wilmot Proviso came almost entirely from the North. |
In the election of 1852 the American people rejected the Compromise of 1850. |
“Uncle Tom’s Cabin” gave an accurate picture of Southern slavery. !
Lin'toln defeated Douglas for the United States Senatorship in Illinois. i
The election of 1860. forced both parties and candidates to take definite stands on
the slavery issue and the question of states’ rights. {
The influence of Clay and Webster helped to pass the Compromise of 1850, (
The majority of the people regarded the Compromise of 1850 as a final settlement of
the sectional dispute over slavery.

In his inaugural address, Lincoln announced his intention of freeing the slaves. !

Copyright 1956, Northwest Educational Bureau, Fargo, North Dakota
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26. A secret society which did much to restore political power to the southern whites
was the- (1) scalawags, (2) carpetbaggers, (3) Ku Klux Klan. {

27. The chief purpuse of the Fourteenth amendment was to- (1) make the Negroes voters,
(2)provide a basis for the reconstruction of the southern states,(3)abolish slavery. |

28. The National Banking System was inaugurated by Congress in 1863 chiefly to provide-
(1) a sound, uniform currency and facilitate the sale of bonds, (2) facilities for
re-discounting commercial paper, (3) an elastic currency. (

W.orite a plus sign in the parenthesis after each true statement and a zero after
each false statement.
29. The South fought mostly a defensive war while the North pushed the fighting into the

South, (
30. Unlike the North, the Confederacy had no serious lack of co-operation. (
31. General Sherman's army confined itself to the destruction of property useful in war(
32. The battle between the Merrimac and the Monitor made wooden ships obsolete. (
33. The War Between the States was half over before Lincoln found his best generals. (
34, The Union army depended entirely upon voluntary enlistments. (
35. Unlike the South, the North did not issue unsupported paper money. (
36. In the North opposition to the war was drastically suppressed. (

37. The reconstruction governments were efficient and satisfactory to the southern
whites.

38. Congress had to carry its reconstruction acts over the veto of President Johnson. (

39. The impeachment of President Johnson was based on political and personal vengeance.{

40. The so-called “Black Codes'’ were enacted by Congress to secure the rights of the

—

Negroes. X (
41. The harsh reconstruction policy of the Northern radicals aroused much sectional
bitterness. (

42, During the War Between the States the North had the sympathy of most of the great
European powers.

Match the following, placing the corresponding number of the left column in the
correct parenthesis at the right.

1. Charles Sumner 43. The Union general who was good at drilling troops (
2. Thomas J. Jackson but hesitated to use them. (
3. Robert E. Lee 44. The Union general who made the famous march from

4. George B. McClellan Atlanta to the sea. L
5. Jefferson Davis 45. The Senator from Massachusetts who was an ardent

6. A. E. Burnside believer in punishing the South. (
7. William T. Sherman 46, President of the Confederate States. (
8. George E. Meade 47, The South's greatest general, (
9. Ulysses S. Grant 48. The ablest of the Northern generals. (
10, William H. Seward 49, General Lee’s ablest assistant who won fame for his

11. Phil Sheridan brilliant military maneuvers. {
12, David G. Farragut 50. The Northern general who defeated Lee’s army at

13. Andrew Jackson Gettysburg. {

14. Thaddeus Stevens
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Northuest Educational Bureau
Fargo, North Dakota




APP:NDIA D

ficance at Vurious leve

Minimns Velueo of Significance Rotio Required for
51

levels of Significence
2%

Freodosn
(% -1)

Degreos of

38583

N AN

&%ﬁ

ns.ﬂ 33

=39

mk.jaz

(ol Joe” ')

~RARW

33333

% 43838

TN

SR8

22232

67.89w

5 48338

MmN o

{3833

48382

23854

. [ ]
NNNN N

RARQ&A

T 471988

NN NN

16
17
18
19
0

FEIJT BERES

Qaaaa 22222

385588 89843

32222 22222

SEQJAL QSRR

2.7e

2'“

REERIX T IRT 56 TAEFE TI0& TE0IF 1IIT 35T LIBYuIst

Statistics, Noyghton Mifflin Coipany, Bostom, 1942,

2.03

35

“Courdt

"F LTI

P. 2



	A Comparison of the Achievement Records of a United States History Class Taught by Socialized Methods and a United States History Class Taught by the Lecture-question Method
	Recommended Citation

	Hauge_Kenneth S.-0001
	Hauge_Kenneth S.-0002
	Hauge_Kenneth S.-0003
	Hauge_Kenneth S.-0004
	Hauge_Kenneth S.-0005
	Hauge_Kenneth S.-0006
	Hauge_Kenneth S.-0007
	Hauge_Kenneth S.-0008
	Hauge_Kenneth S.-0009
	Hauge_Kenneth S.-0010
	Hauge_Kenneth S.-0011
	Hauge_Kenneth S.-0012
	Hauge_Kenneth S.-0013
	Hauge_Kenneth S.-0014
	Hauge_Kenneth S.-0015
	Hauge_Kenneth S.-0016
	Hauge_Kenneth S.-0017
	Hauge_Kenneth S.-0018
	Hauge_Kenneth S.-0019
	Hauge_Kenneth S.-0020
	Hauge_Kenneth S.-0021
	Hauge_Kenneth S.-0022
	Hauge_Kenneth S.-0023
	Hauge_Kenneth S.-0024
	Hauge_Kenneth S.-0025
	Hauge_Kenneth S.-0026
	Hauge_Kenneth S.-0027
	Hauge_Kenneth S.-0028
	Hauge_Kenneth S.-0029
	Hauge_Kenneth S.-0030
	Hauge_Kenneth S.-0031
	Hauge_Kenneth S.-0032
	Hauge_Kenneth S.-0033
	Hauge_Kenneth S.-0034
	Hauge_Kenneth S.-0035
	Hauge_Kenneth S.-0036
	Hauge_Kenneth S.-0037
	Hauge_Kenneth S.-0038
	Hauge_Kenneth S.-0039
	Hauge_Kenneth S.-0040

